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All questions are compulsory. Al quesﬁons of each Sec-
tion (A, B and C) should be attempted together

1. (a)

aﬁmaﬁmﬁglﬁ?m(faﬁrn)
ﬁmwwa-merman%q:

v SECTFON A (W‘T A

Mr. A, an Amerxcan golf player, has been coming
‘to India for 104 days every year to play golf for
the club since 2006-07.

(i) Determine - his remdentlai status Eor the

assessmeént year 2014-15. ' : .

(ii) 'Will-your answer be different if you are told
that A’s maternal grandfather was bom in
Dhaka on January 10, 19477 .

fwoqwaﬁmﬁwm@ 2006-07 | TER

. wrw E 104 fE g s @ R

(®)

(i) wfreafm o 2014-15 H ﬁm EL 0| ﬁaraﬁ
foafs 3@ AR '

(ii) T ST IR @ AW Ay T F TR A
= 99 o § 99 10, 1947 = @ A2

From the following information, compute gross

total income of Mr. B for the assessment year
'2014-15 assuming Mr. B is:

(i) Ordinarily resident, (i) Not ordinarily .

resident, and (iii) Non-resident.

(i) Salary for services rendered . ‘
- in Canada but received in India 2,00,000 :
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(ii) Loss froma business in Sri Lanka
controlled from India (1,00,000)
-(iii) Royalty received for technical '
- knowhow-used by Mr. X, a non- °
_ ' resident, in a business carried out
m India but received in London - 3,00,000

(1v) Income from agricultural :
operation in Sikkim = . 1,060,000

(v) Interest on bank dcposité in

Sri Lanka subsequently remitted

to India , 2,00,000
frafafes ge @ fHo e ¥ (2014-15 &
mﬁmﬂ#fmmwmﬂmﬁm

At

() e famt 4 @)  searw et @ i)
sifaTeR 81
() mﬁﬁmmmﬁ"m

W § Ww sE 2,00,000
(ii) G ¥ fEfE e ﬁf 2RI .
] 7l " (1,00,000)

(iii) fHo T, W AfAER, Wﬁﬁﬁ "
W1 FFUE, T, @ed 7 I,

Faiat I ¥ W Tae 3,060,000
(iv) TufrEm ? i daed § oW '
g 1,00,000

(v) diew & 3% § (i 50 | =N |
S T e § ¥ fem-wmr2-- 2,00,000

P.T.O.
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(c) Who is regarded as an “assessee”’ under Sectlon f
2(7) of the Income Tax Act'? Dlscuss
- aEER SfgtEm #ouw 2(7) ¥ sr=ild “ﬁufftaﬁ
- (Assessee) FFR T S 8 ? O M- 44443
Or (A
(a) The head -office of M/S AB, a Hindu undmded
family, is sitvated in Smgapore The family is
- managed by A (since 2000).who is resident in
India in 4 out .of 10 previous years immediately
preceding the previous. year 2013-14. He is in
India for 800 days during 7 years immediately
preceding the previous year 2013-14. Determine
the residential -status of the family for the
assessment year 2014-15 if the affairs of the fam;ly
business are: -
(i) Wholly controlled from Smgapore

(ii) Partly controlled from India.

dwd T, R afyee uiEw, o woH wAfed
fETIYT ¥ fd # | wRER a9 YT A 0 R S
2 (2000 ) <t 2013-14 Fyd F 10 I A R 4 =
od W e W@ R aw 2013-14 F O af ¥ e
7 39 ¥ i@ ¥ 800 R w ? 1 9fER @ Frar
feafy w-frafer af 2014-15 % fom 7 wifv af
- qRERE S ¥ ame: -

() fe; A @ Prifs

(i) sive: 9@ @ Feifg

B3R

(b) “Income of the. previous year is chargeable to tax
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" in thc'immgdiateiy.follqwing year.” Is there any

exception to this rule? Discuss.

'f«q\—qr af & o\ W R @i% e o a%iﬁ am T

- @ar g7 S Wﬁmaﬁraﬁﬁm& ot 3?7 o7

©

Eﬁﬁﬂ'i ' | . e o
X, a resident in India, aged 63 years,'eame'd‘
agricu!tpm},,ﬁinpi)‘me' (net) of Rs. 6,00,000 during
the previous year 2013-14. Compute his tax
liability assuming his total income {computed) is

(i) 2,50,000; (i) 6,60,000. - e

2. Ms.

g, o F Frad, 3% 63 7, & 2013-14 ¥ T
o § P IE QR T 6,00,000 ? | 3TH T
aﬁaaﬁmﬁmaﬁmgﬂmm@%

(i) 2,50,000, (ii)- 6,60,000. 4+4+3

Y, a software engineer ‘in TCS Ltd, submiis

following particulars of her income and contribution,

etc.,

for the year ended 31-03-2014. .Compute her

total income for the assessment year 2014-15."

(2)
(b)

()

(d)

Basic Salary : 5_0,000 P.M.

Dearness -AllowanéAe:-SO% of salary (60% forming
part of retirement benefits) '

Children Education Allowance: Rs. 200 per month
per child for two children

Free lunch for 300 days in office during office .
hours: @ Rs. 75 per meal

- Gift of washing machine: Rs. %5,000 (Purchase-

price) .
' PTO.
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(k)

(®

()

(®)

(M

~ was credited to her. aforesaid RPF Afc during

6

Rent free unfurnished accommodation provided’
at New Delhi.. Its lease rent is Rs. 20,000 per
month. -

Motor car of 1800 cc (with driver) was provided
both for official and privaté use throughout the

'year. It costs company Rs. 2,00,000 annually.

Telephone facility_provided. 28 her - residence
which cost Employer Compa_ny Rs. 20,000
annually '

Cost of medical famhty prowded to Ms. Y and her

family at private nursing home amounted to. Rs.
30,600 was borne by Bmployer Company.

Her employer provided her with interest free loan
of Rs 19000 to purchase an air-conditioner.-

Her employer contributed Rs. 1,00,000 to her
recognised  provident fund to which she made
matching contnbutlon

Interest @ 12% p.a. amountlng to Rs. 3,00 000.

financial year 2013-14.

(m) Rs. 12,000 were credifed to her saving bank

®

account operated in Punjab National Bank during
financial year 201314,

She donated Rs, 3,000 to Prime .Minister’s
Nationai Relief Fund ‘ : 1

ﬁvY TCS f¥o ﬁ‘lzfrmmzn ssﬁﬁaz,mq‘famaﬁt
‘a’mm i 31-3- 2014 Col atnta EL %' o frafafes
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gud wEr a3 Frafor oY 2014-15 % AU sEE

T A H A FWE :

(2) YT I§F : Fo 50,000 WA

(b) wEME w1 : AT H 30% (60% ey w A _

(c) =t T FoEu T@E, %o 2oosn‘msrﬁa-ara' .

- gwdEl % fag )

(d) 300f‘a=iaﬁfma‘a’hmgqa G ; @ §o 75 WA
~ e |

(e) arfyin wefa = e : %o 15,000 (m rga)n _

(f) rmgwaﬁarmrm#fmﬂmﬁm

. T 3EE Wi fUE @ Fo 20,000 Wfamw®l .

(g) ﬂamlsuoccﬁﬁm@rﬁsﬁ)nﬁaﬁmmmé'
MHaﬁtﬁWMHa‘fmﬁﬂénﬁaﬁm
To 2,00,000 T & I :

(h) snard W IAWT F G TG H TR ma‘?ama )
- frErR B W %o 20,000 S

G) fe Y ek sed wER | e AfEm 8w W
fafiree gfawr se@ @ 7 etk swe anm R
Fl T W@ %o 30,0001 _

() su-a-ﬁrﬁmﬁmwmfﬁmao 19,000 TH
TR EwR ' $ @)

(k) 9% Pl ¥ 3W% MR B § To 1,00,000
e e i sve ot AngR Al W

(1) W sMeRoume T H 12% s Wiy W@ oW
%aozooooo'r‘aﬁaaq‘zmz. 14'&5‘:‘1’331%&11&1

PTO



575 . ‘ ' 8 - |
(m) T9% 990 7A@ dF & a9 @R A fada o
.2013-14 % AT Fo 12,000  BHE fFm w1 |
(n) 38 W A5t feftn v Fwe 5,000 TR AT 11

L e —-Or-(21FEm) . .

2. Tllustrate the provisions of the Income Tax Law

' relating to any three of the following: B
(a) Exémptio‘n in respect of house rent allowance
(b) Exemption in respect of encashment of earned-
" leave E o ' .
(©)  Valuation of free education facility

. (d) Sale of movable ‘asset at concessional/nominal
~ price. | ' '

(e) 'Va[uatidn of rent-free furnished house.

fra & & /R @7 & Y s afafem % Sem
FATER— - . .
(a) &M foruar s 9 qf% -
(b) afa dfiw & TEdtE W ghw
(c) qw= faaw Qe & gegian
(d) ¥ FfE R IR/ 6 qd 9T g
(€) fmran o% Qi M ywaiwt 1T 3.67x3

3. (2) Mr. K. K. owns a house whose municipal vajue is
Rs. 4,50,000 p.a. Its 60% portion is let out af a
‘monthly rent of Rs. 26,000 and remaining 40%
portion. ‘was occupied by him for his own

. residence. Constryctj

on-of this house comm
“on May 1, 2009, e
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On July 1, 2010, he raised a housing loan of Rs
40,00,000 @ 10% from State. Bank of India. The .
House was completed on December 1, 2012. He

incurs the following expenses in respect of the
~house during the previous year:— - .

(i) Rs. 50,000 were paid by way of Municipal

- Tpoes 3}
- 2012-13. .

" (ji) Repairs Rs. 50,000

(iii) Ground rent Rs. 10,000
(iv) Fire Insurance pfemium Rs. 10,000..

Compute his chargeable .income from

ineluding Rs. 5,000_in respect of

House

property assuming that -entire loan amount is .

outstanding.

o FroTro T T & wt § FAER AT

Hqediw Fo 4,50,000 Sfaad ¥ @ 60%

5o’ 26,000, WA T TG T T4 40%
%@-%mmwswwmm1ﬁ
a000 W Y TS 1 Y@, 2010 T A HH

forn AT To 40,060,000 @ 10% =l W

|1 W
qn7 @i

o §%

#iw 3fem &1 A 1 frgay, 2012 T W A
mﬁ@ﬁ-ﬁﬁmﬂﬁﬁﬁﬁﬁfmm‘ﬁﬁ:

5,000, 2012-13 § ¥=% q
(ii) ¥THT Fo 50,000

' (ifi) 90 fea (Ground rent) o 10,000

(iv) W TEEE s 2 10,0001

) 50,000 FTNfeE A B 2 e ¥ e

PTO.
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(b)

3. (3)

10

T T € 3" §% nue SfNe 9% A gU

wd 9 T R R

What is a ‘capital asset’ under the Income Tax
Act, 1961?

srmaR. oAfufaam, 1961 amﬁa gl am?ﬁ

(Capital Asset) T 82 . 8+3
- Or (@ '

Z purchased a house property on 10-05-1979 for

Rs. 3, 00,000. Fair market value of the property as

on 1-04-1981 was Rs. 3,40,000. He mcurrcd the
followmg expenses:

(i) Construction of a two room set
~ on first floor during 1980-81  Rs. 1,00,000

(n) Renovatmn of House during 1987-88
Rs. 4,50,000

" The aforesaid housing property was transferred

on 10-01-2014 for Rs. 80,00,00C. He paid 1%
brokerage to the broker for arranging the deal.
Compute the capital gain chargeable for
assessment year 2014-15, Also state whether Mr.
Z can avail of exemption under Section 54 of the
Income Tax Act. If so, how? |

Relgvant cost inflation indices are:—
1981-82: 100 1987-88: 150  2013-14: 939
Z 3 T 7FH F9 10-5-1979 T Fo 3,00,000 §

@7 W, 1-4-1981 9 I TR ¥ %o 3,40,000

o7 39T A =g e
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(i) 1980-81 # %oW T W 3w F ¥ @ i
%'1,000001 A -
(i) w@m Tt 1987-88 ¥ g %o
450,000, SRE WHA U W T
———{0.120T4 7 T 80,00,000 ¥ fEm WAl IEI
W W W Emet 1% @1 st &l
T 2014115 ¥ fau St @ (Capital Gais) T
'mﬁmlmq‘aaa%ﬁmﬁaaﬂrﬁo
3T omER @ uW 54 % AT g AW W
L gma i FRE @ aE?
awg ATE AT gERE—
1981-82: 100 1987-88:150  2013-14:939
_(b) Discuss briefly the deductions that are allowed
" from annua! value while computing Income from
. house property. _ | '
480 F 31 g @ aviR Af & AR e ¥
a9 o S oS R 8+3

4 Xand Y are two partners (2 : 3) of X & Co. engaged
in manufacturing chemicals: The Profit and Loss
Account of the firm for the year ending 31-03-2014 is
as follows:— S

Particulars Rs. . Particulars . Rs.
Cost of goods s01d - 9,00,000|Sales 22,00,000
Salarytostaff . | 589800 Long term capital gain 5900004 -
Depreciation . 40,000 |Rent from house ' _
| - |property : 81,000

PTO.
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Remuneration to Partners:

X 240,000
Y 1,60,000
Interest on capital to part-
jners @ 15%: )
X e | -45,000
Y o © 30,000
~ |{Other expenses 3,56,200] - 7
fnre - ofe ' 5,10,000 L e

28,71,000] ' | 28,71,000

Other information:

(i) The firm compieted all legal formahtxes to get the
* . status of ‘Firm’. -

(i1} Depreciation allowable u/s 32 is Rs. 80,000.

. (iii) Other expenses include a sum of Rs. 80,000 which

was given as a donation to National Defence
Fund.

(iv) Rs. 15,000 were levied as Mumc;pal tax by the
Municipal authorities. The entire sum is included
in other expenses though unly Rs. 5,000 was paid
duting 2013-14 and remaining sum is still
outstanding. - .

(v) Salary and interest is pald as per Partnership

- Deed.

Compute Net Income and Tax Liability of the firm and

partners assuming both the partners. have personal

. income of Rs. 4,00,000 each and contribute Rs. 90,000

each to their B.P.F. account.

X & Co. ﬁxa‘hya’m@m%a 3),
m%mwﬁaﬁgqﬁlmszouaa‘rm'm
QIY-§IA Gl (9 91 91 — =
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Particulars ) Rs. " Particulars Rs. -
Al i St wE | $.00,000 @ N " 22,00000]}
wIF H d B 5,89,800 |[rdwrelta g W | 5,90,000
firre_ © ] 0,000 pmeR et { SR -~ 81,000||
gderl St o
x b 240000
Y , 1,60,000
TR F gl W
L 45,000
Y 30,000
A EE 3,56,200
q@waw . $,10,000
' 28,71,000 28,71,000
S [

(@) v A e a‘fﬁaﬁtmaﬂ%%‘t‘maﬂamﬁa
staiaan 1@ & | o ,
(u)umszé-mrfaamaﬁmsﬁﬁrrﬁméso'
80,000
" (iii) ¥ ol ¥ O ufa ¥o 80,000 4 9 fr TAT T
_ we f g 9 T | .
(iv) TR sfugfEl A TTEfaE @K% $o 15,000
aran s aY 2013-14 ¥ =@ To 5,000 & @ & M
qon st e el f AW A 2 o
) %ﬁﬁtmmmﬁﬁsﬁﬁﬁmﬁﬁﬁf

P TO.
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w s el W g WY AW =W S F o 3w
T g WfWe s QN @deld @ el Sy s
4,00,000 & 741 To 90,000 qﬁm%PPFﬁﬁmﬁ#_'
g1 ' 11

_ or ( 314
- 4. (a) X Ltd furmshes folIow1ng inforinaticn to you:

Blpckil—* Plant (cous:stlng of 3 plants) rate of
admissible depreciation: 15% on written down
_ value which was 5,00,000 as on 1-4-2013.

Block II— Buildings (two buildings) rate of
depreciation: 10% on written down value which
was 6,00,000 as on 1-4-2013.

- Two plants (rate of admissible depreciation 15%) .
were purchased on 10-07-2013 for Rs. 3, 00,000.

All these five plants were sold for Rs. 9,00,000 on
1-12-2013. On 15-12-2013 two plants (admissible
rate of depreciation 15%) were purchased for Rs.
2,50,000.

Compute the amount of admissible depreciation
(assume assessee is .ineligible for claiming
additional depreciation) to be claimed by M/S X
Ltd for the assessment year 2014-15.

X feo sy & g gemd werw e 2,
‘&?T%I—FF?HGWHI%H)H%@'H H SR 2

15% 0 g9 & WS £ 142013 B 5o
5;00,000- 47 |
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"scﬁa:n—m(a’f m}maﬁﬂlo%mm

&?I (written down value) T S fE 1-4-2013 W
%0 6,00,000 i 1 \

PRSP

g gdx (RfYE T # w 15%) 1072013 H

-@ﬁ%ﬂﬁzomoooow -

L gig w4 1- 12-2013 aﬁ %o 900000 | aﬁ?t

b)

S 15-12-2013 W I (TN W T
-15%)wra:anaso 250000ﬁ|

afafe qeae H fog @™ ) .
2014-15 & raq dad X fao @ FaF (claim)
A ? :

When is an individual assessable in respect of

’ remuneratlon of spouse?

(©)

(2)

w9 ot sa-ae: a'mﬁarf‘na'é"aaaﬁ zﬁu‘ﬁ %r ‘
fig FoRar €2

When is receipt of money without consideration
fo be treated as an Income under the head Income
from other sources [u/s. 56(2)]?

fwﬁm%mmaﬁaﬁ@i@?ﬂﬁmé‘
st i T T & (ST 56(2) F FY L
4+4+3
Tllustrate the provisions relatcd to setoff and carry
forward of non-speculative business losses.
ﬁtwwﬁaﬁaﬁﬁzﬂ‘wﬁwmam
mﬂﬁaﬁﬂaﬁmmmaﬁwﬁmaﬁ'ﬂ
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(b)

@

(b}

(€)

16 -

Explain briefly the provisions. relating  to
deductions available to the persons with disability
(Section 80U). - : : .
s A S %o gz % WY [amw
800 & wrfe) = aofy AL~ ——— -~ -
What are the consequences if return of loss is not
filed by the due date of fiti~~ ~f return?

T 3T (Due date) 7% WY 8 @y 5 faeroft
TEE TR 9T 347 I & w82 " 44443
' Or (:AgEn) c |
Explain  briefly the provisions relating to
deduction in- respect - ‘of -medical - insurapee
premium (Sf_:ction 20D). A
Tafn s w7 s LECE RS BT
¥ (87 80D % sty 2 o _
Explain the significa_nce of the judgement -
delivered by ~Yon’ble Supreme Court in the. case
of CIT vs Raja Benoy Kumar Sahas Roy ( 1957).
CIT &7 T= fa7 3R wg 0 {1957) & urrfg
SO I T R Tt 9w oty
Hf S
Discuss briefly the provisions relating to clubbing
of income of minor child under Section 64(1A).
maﬁraﬁrm%qaaﬁmwaﬁmﬁ
T W 7 qq F iy HT [0 64(14) %

AL LR | 44443

* 5500
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